ESOI quf“O;a (-1) For si\gms ,

Math 2E Quiz 2 Afternoon - April 7th

Please put 1D on back for redistribution!

Show all work, and try to simplify your answers. *There is a question on the back side.
1. [10pts] You will be finding the volume of the solid enclosed by the following surfaces:

The “cylinders” (sheets) z = 2% y = z° and the planes z =0,y = 4.

(Recall that “cylinders” are really just sheets - it’s a bit of a misnomer.)
(a) Write the integral that gives the volume as both [[ f(z.y) dy dr and [[ f(z,y) dx dy.

R R
(b) Compute the volume using one of the two integrals from (a).

a) Lj—..xl a:w;r‘ ‘j‘-"[ ljfe)[cl- Hue I‘tﬁl\?ﬁ R;_ 3 mm){.) -FWM O v 11’

+3

K=72 3:|_' )
g?:—'w"l g\j-_-,f‘“ (Xﬁo) il'j t\?‘(

LS S E)
S : g (X-0) dxdy 473
e R S e

ey - xl‘ii U A
go ng; .X é} /L:)Lj. f Eum{:w\cj(mb\

y 3 VY
& Z.X dj

i

| 0 3 o
The fns 3 2 U
ot e’ | = g L} & J & 6*9
i 3
C

2 y

= Z ] S'D ) 7 ‘ Z,lﬁg/l \
5 = o

817

|
. v
X -

15 ¢ 712 /L{”L)

1
',,--""‘

=2
i
(~J

2 =113




2. [10pts] Evaluate the integral by converting to polar coordinates:
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It should help to first draw the domain of integration. —
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